Yo}
I

i

m4 FE

SHAFEERNFE (RIEMRX) ELERERHAER

U 5 B

i3 & RIEE (RERHRER)
e B BEEXxEHE

=1 B EEdeE

B oMY RERHE
BHEES 18-14-22-048



BENRRK SFAEERIFE (RIEHR) SEHERRRE

& kg g - BKsTiE B % =2 B {f & % =
EEIEE 8,068, 499
BEXHE 8,068, 499
HRAE 8,068, 499
HRAE 6,076, 627
HE - BEERE 318,114
1 FHE#E R 1.00 163, 721 163, 721
=®
2 ERIiRE 1.00 74, 600 74, 600
=
3 HMIERR 2EERRY) 1.00 79,793 79,793
=
HihERAE 5,039, 470
4 BERHFE (8L 1,693. 00 120 203, 160
m2
5 #KHAED FKE10mR 7 6, 640. 00 305 2,025, 200
m2
6 BKRAEQ FKE10~20mK i 5,158. 00 545 2,811,110
m2
MR - & 719, 043
7 REEERK 1.00 620, 443 620, 443
=
8 miRmE 1.00 98, 600 98, 600
=




BERNRE

THAEERFE (FEHX) BZHERRRAT

% i1 L N BfL £ it ® #® i)

E#EEE 1,991,872
R 63, 000
9 EBEHEM 1.00 63, 000 63, 000

=
e 1,891,472
10 ZEERMK 1.00 1,891,472 1,891,472

=
RiffEEE 37, 400
N EIREE 1.00 37, 400 37,400




THAEERFE (FEHX) BZHERRRAT

4 g B - KT Bifg = il ® = W=
EENEE 8,068, 499
HRHE 8,068,499 x 67.7% — 872 5,461, 501
AEEEE 8,068,499 + 5,461,501 13, 530, 000
BB E TS 13,530, 000
HEREHELE 13,530,000 x 10.00% 1,353,000
BEXEHE 13,530,000 + 1,353, 000 14,883, 000




K& -ET/\vr—2

THMAFEER R (REHR) BLERRTRAE

&5 1
B FTEER 1%y
£ 7 R - BIRTiE B 2 i € W E B &
RIS EFHEm
A 0.50 48, 000. 00 24,000
B EHER
A 1.00 42, 200. 00 42,200
B E A
A 2.00 32, 400. 00 64, 800
RIEBF
A 1.00 31, 100. 00 31,100
EHARE FHEEDY
% 1.00 162, 100. 00 1,621
= g YEZERED 1. 00X 163, 721.00 163, 721
&5 :2
2 . BATHE 1%y
£ 7 R - BIRTiE B 2 i € W E B &
B EHER
A 1.00 42, 200. 00 42,200
B E A
A 1.00 32, 400. 00 32, 400
= it YEZERED 1. 00 74, 600. 00 74, 600
%5 :3
B BMERR QEESY) 1%y
£ 7 R - BIRTiE B 2 i € W E B &
REMHENE
A 2.00 25, 400. 00 50, 800
K>y 2tiE
=] 1.00 28, 203. 00 28,203/4.70H / 8H
AN 2H0%
% 1.00 79, 003. 00 790
= g YEZERED 1. 00 79, 793. 00 79, 793




K& -ET/\vr—2

THMAFEER R (REHR) BLERRTRAE

&5 4
&% BEBAE GBL) 1HHY (1240m2)
% 7 R - AR R B3 = B & # W = B &
REE 4 kY 2L
=] 1.00 3, 330.00 3,330/2.00H / 8H
B EHEnE
A 2.00 32, 400. 00 64, 800
BIEBF
A 1.00 31, 100. 00 31,100
fn ot A 15PSE!
=] 1.00 48, 320. 00 48, 320 8H
e 2{KDY%
% 1.00 147, 550. 00 1,475
= g YEZEREN ¢ 1,240.00m?2 120. 00 149, 025
EE =)
2 BAKHAED KFEIOmEKH 1BHY (1200m2)
% 7 R - AR R B3 = B & # W = B &
REE 4 kY 2L
=] 1.00 3,330.00 3,330/2.00H / 8H
B EHEnE
A 1.00 32, 400. 00 32, 400
BIEBF
A 1.00 31, 100. 00 31,100
BKE(FA3—) 10mK %
A 2.00 49, 500. 00 99, 000
BKTHEE (A4 /13—) 10mR 578
A 2.00 49, 500. 00 99, 000
rtmEyYE
A 2.00 25, 200. 00 50, 400
fn ot A 15PSE!
=] 1.00 48, 320. 00 48, 320 8H
e 2{KD%
% 1.00 363, 550. 00 3,635
= g YEZEREN ¢ 1,200.00m2 305. 00 367, 185




K& -ET/\vr—2

THMAFEER R (REHR) BLERRTRAE

&S :6
25 BKHAED KFE10~20mkiH 1BHY (700m2)
% 7 R - BIRTiE BARL #H = B & # W E B &
REE 4 kY 2L
=] 1.00 3, 330.00 3,330/2.00H / 8H
B EHEnE
A 1.00 32, 400. 00 32, 400
RIEBF
A 1.00 31, 100. 00 31,100
BKE(FA/3—) 10mLL £ 20mk i
A 2.00 53, 100. 00 106, 200
BKTHEE (A4 /13—) 10mLL £ 20mk i
A 2.00 53, 100. 00 106, 200
rtmEyYE
A 2.00 25, 200. 00 50, 400
Aot i 15PSE!
=] 1.00 48, 320. 00 48, 320 8H
M 2{KDY%
% 1.00 377, 950. 00 3,719
= g YEZERES : 700. 00m2 545. 00 381, 729
&5 .17
B MESER 1%y
% 7 R - BIRTiE BARL #H = B & # W E B &
RIS EFHEm
A 1.50 48, 000. 00 72,000
Bl EHEm
A 3.50 42, 200. 00 147,700
B EHEnE
A 4.50 32, 400. 00 145, 800
RIEBF
A 8.00 31, 100. 00 248, 800
EHARE FHEEDY
% 1.00 614, 300. 00 6, 143
= it YEZERED 1. 00 620, 443. 00 620, 443




K& -ET/\vr—2

THMAFEER R (REHR) BLERRTRAE

%5 :8
A RBRBRE 14y
£ 7 R - KT B B = BO(f & | W E B &
B FEHE
A 0.50 48, 000. 00 24,000
B EHER
A 1.00 42, 200. 00 42,200
B E A
A 1.00 32, 400. 00 32, 400
= it 1YEZHEH - 1.00K 98, 600. 00 98, 600
&5 :9
L EBBRR 14y
£ 7 R - BAK~TiE B B = BOf & | W E B &
EBHRRE
= 1.00 63, 000. 00 63, 000
= it 1YEZHEH - 1.00K 63, 000. 00 63, 000
H5:10
& BREESRMR 14y
£ 7 R - KT B B = BO(f & | W E B &
TEERMR FRP D 180PS%!
=] 13.00 144, 774.00 1,882,062/6.00H / 8H
AN 2H0%
% 0.50 1, 882, 062. 00 9,410
= g 1YE%HEH - 1.00K 1,891, 472.00 1,891,472
#5511
&% EIREE 1KY
£ 7 R - KT B B = BO(f & | W E B &
EIREE
= 1.00 37, 400. 00 37, 400
= it 1YE%HEH - 1.00K 37, 400. 00 37, 400




